
 

 

 

           3-Digit ÷ 1-Digit Numbers: Part 2 
 

1.  Complete: 

      a)   120 ÷ 3 = _______   because  ______ × ______ = ______   

    b)   240 ÷ 6 = _______   because  ______ × ______ = ______       

      c)   320 ÷ 8 = _______   because  ______ × ______ = ______       

2.  Complete: 

      a)   200 ÷ 4 = _______   because  ______ × ______ = ______   

    b)   300 ÷ 6 = _______   because  ______ × ______ = ______       

      c)   400 ÷ 5 = _______   because  ______ × ______ = ______       

3.  Calculate 129 ÷ 3:      

Think:   129 = ____________________     

 

 

 

     

  

 
 
 

 

 

 

129 ÷ 3 

 

 

Using a division bracket:  



 

 

4.  Calculate 132 ÷ 3:      

Think:   132 = ____________________     

 

 

 

     

  

 
 

5.  Calculate 276 ÷ 6:      

  Think:   276 = ______________________     

 
 

 

 

     

  

 
 

*6.  Calculate 352 ÷ 8:      

  Think:   352 = ______________________     

 
 

 

 

     

  

 

132 ÷ 3 

 

 

Using a division bracket:  

352 ÷ 8 

 

 

Using a division bracket:  

276 ÷ 6 

 

 

Using a division bracket:  


